SHI0EE T -FIHEIEMER (EFKR) (20244128118 ~ 20244125208 )
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aiE 12/20 B#E EFRSIT-FTEERS
bl = B ES ZE & E = (AR) FONE AR ZTHOROER X O (FHD)
EX (=8 2] B £ E BERA | SE~ELEER ~DRER BT BRAER | €T (£) (2) ERIIED (FBHA)
AR | #E ? 3 B ? I E ? NEE Rit NEE EH e Rit | PEH NEE Rit NEE Rit NEE Rit [IEIE
JIER | Adrfa
fihinT £
AR Bk 90 112 202 65 3 84 3 181
12/10 32 | ftirfa (62) (133) 181 2,500 7
B A
2t 90 112 202 65 3 84 3 181
EEINERED
12/10 32 | filinf £
A A
12/10 32 | fisirfa 4,880
B A
it
F BRI HirTfa
12/10 32 | filinf £
T RR| Ak 177 218 395 1,294 1,494 2,788 1,106 | 252 1 450 41 70 1 175 1,104 3 78 461 2,654
12/19 32 | s 2) (338) (5) (762) 5051 | 15,100 33
i’ Bk 287 1 288 1,106 5 1,111 287 1,106 1 41 7 96 56 292 913 785 2,397
(292) (913) (785)|  (2,397)
2t 464 219 683 2,400 1,499 3,899 288 1,556 1 82 7 166 57 467 2017 3 78 1,246 5051
RN | s 4 6 10 42 97 139 2 37 1 2 4 37 2 9 91
12/18 32 | fisinrfa ) (34) (4) (84) 91 2,400 4
B A
2t 4 6 10 42 97 139 2 37 1 2 4 37 2 9 91
B FE I Ak 4 4 8 10 29 39 203 19 1 1 3 3 7 2 6
12/19 32 | fisirfa (1) 2 495 2,734 18
i’ Bk 44 43 87 203 204 407 40 199 3 3 2 56 198 146 489
(EA5Y)
(52) (198) (135) (478)
2t 48 47 95 213 233 446 40 200 3 3 2 57 201 3 7 148 495
INA | B 88 108 196 596 760 1,356 192 3 13 80 534 8 46 225 1,391
12/20 32 | s (176) (517) 1,391 2,300 60
| A
&t 88 108 196 596 760 1,356 192 3 13 80 534 8 46 225 1,391
E&F | g 38 57 95 220 308 528 35 186 3 34 88 462
12/19 32 | ffuirsa 462 2026 23
& A
Bt 38 57 95 220 308 528 35 186 3 34 88 462
HZ )| A 20 30 50 330 472 802 9 2 16 267 4 61 40 677
12/19 32 | fisirfa () (16) 677 2,565 26
B A
20 30 50 330 472 802 9 2 16 267 4 61 40 677
TR GRS 22 28 50 414 686 1,100 198 8 21 384 1 22 53 874
12/20 32 | fbinrfa (190) (379) 874 1,766 49
B A
Bt 22 28 50 414 686 1,100 198 8 21 384 1 22 53 874
EBA| AWM 277 347 624 712 1,050 1,762 48 5 235 594 42 113 558 1,460
12/20 32 | fbimrfa (43) (90) 1,460 6,800 21
B A
Bt 277 347 624, 712 1,050 1,762 48 5 235 594 42 113 558 1,460
EANIEER 6 11 17 84 118 202 24 3 63 3 21 5 128
12/20 32 | fbimrfa (24) (45) 128 2,400 5
B A
Bt 6 11 17 84 118 202 24 3 63 3 21 5 128




# ® = A ZE = E % (AR) FIERRER ZTOROER 2 (F#1)
Aikigg ] B 7 B BRERR EEOLEER | ~VREER FNTBRAENR | 25T () () ERRIIE GBHN) TRONAT
AHZ | #E 2 3 5 2 3 E 2 INEE Rt INEE it INEE it | OE% NG EHi Ve Rt INEE Hit | B[ FZiF | (%)
KRN Airfa —
- ftninT £
0O i B T
g I S e S
BE | A 122 178 300 281 489 770 121 279 2 4 24 51 99 224 1 2 212 449
12/20 32 | fisinrfa (99) (224) (212) (449) 449 2,119 21
B A
gt 122 178 300 281 489 770 121 279 2 4 24 51 99 224 1 2 212 449
K HE N BT 8 10 18 10 23 33 2 2 6 8 4 4
12/20 32 | s 4 2,150
B A
gt 8 10 18 10 23 33 2 2 6 8 4 4
AN BRI AT
ftninT £
HBIERN| A 65 78 143 184 238 422 42 123 23 61 86 253
12/20 32 | s 253 2,290 11
B A
gt 65 78 143 184 238 422 42 123 23 61 86 253
BF I A 75 112 187 241 376 617 43 153 32 88 73 309
12/20 32 | s 309 3,041 10
B A
gt 75 112 187 241 376 617 43 153 32 88 73 309
F R B 16 27 43 93 200 293 11 61 5 32 26 118 (+108)
12/20 32 | s 226 2,000 11
H g
gt 16 27 43 93 200 293 11 61 5 32 26 118
%I A 27 44 71 96 177 273 15 62 12 34 27 108 (-108)
fihieT £ 500
HE | AWk 25 60 85 10 15 17
12/10 32 | ftirfa 17 2,300 1
H R
2t 25 60 85 10 15 17
ORI A
12/10 32 | firfa
#®EI| A 8 3 11 92 73 165 8 92
12/17 32 | fihinf £
B | A 24 23 47 203 312 515 14 158 10 45 30 331
12/17 32 | s 331 6,200 5
H R
24 23 47 203 312 515 14 158 10 45 30 331
LI B 78 85 163 1974 2,910 4,884 63 1,865 15 109 136 4,829
12/17 32 | s 4,829 8,400 57
AT FifEfa
2t 78 85 163 1,974 2910 43884 63 1,865 15 109 136 4,829
ERGE 1,059 1,369 2,428 6,991 9984 16975 1,309 124 1,303 2 62 24 141 1 859 5914 179 873 2035 | 14,342
At | s (103)|  (1,099) (221)|  (2,477)
i’ Bk 331 44 375 1,309 209 1,518 327 1,305 4 44 7 96 58 348 1,111 931 2,886
(344)| (1,111) (920)|  (2,875)
it 1,390 1,413 2,803 8300/ 10,193| 18,493 451 2,608 6 106 31 237 59 1,207 7,025 179 873 2966 | 17228 | 17,228 | 73,971 23
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